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Answer any ﬁve questions
All questions carry equal marks

f 10mA when _the potential

- :|) Fmd the resistance for full scale readlng with IOOV
Also, calculate the power dissipation in each case.
b)  Derive an equation for the torque developed in PMMC instrument. [8+7]

_,,turns reqmreci to’ p1 oduce 3 deﬂectlon ef' 9(10 when a eurrent of ZmA ﬂows through the

“coil.
b)  With the help of a neat diagram, explain the working of attracted disc type voltmeter.
[7+8]

Discuss how AC potentiometer can be used for calibration of wattmeter.
Explam the procedure‘ to-calibrate vo]tmeter and am,meter using DC potentiemeter B A

4.a)  With help of a neat diagram explam the worklng of coordinate type potentiometer.
b)  Draw the equivalent circuit diagram and phasor diagram of the current transformer.
[8+7]

com pen satlon [9+6]

6.a)  With help of a neat diagram, explain the construction and working of a three-phase

energy meter.
Two-watt meters are connected to measure the input to a balanced 3 phase Cll’CLllt

md[calmg ZOOOW and SOOW reSpectlvefy "Find the power factor ofa clrclut

..........

..............

i) Wheén the ]atter readmg is obtamed affér reversing the connectlons to the Current 001]
of the first instrument. [9+6]




7.a)  Draw the circuit of Kelvin double bridge used for measurement of low re51stance Explam
its - working prmcn iple .,
=+ b) A.n- AC bridge isibalanced: at 2KHzJWJth the follt:mrmg components m aach arm: Arm .
'AB=10KQ, Arm BC=100F in series'with 100K€2, Arm"AD=50K€. Find the unkrnown® ™
impendence R = jX in the arm DC, if the detector is between BD. [8+7]

_"::-

8.a)  Derive an equation for gauge factor in strain gauge.
b)  With help of a neat dlagram explain the prmmple and working of LVDT. [7+8]
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